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QUESTION 1

Which statement is true when formatting text in a dashboard crosstab or table? 

A. Table summary row may be formatted with a different color. 

B. Column formatting gets inherited for the table/crosstab summary row. 

C. Column titles may be individually formatted in any font/color/size. 

D. The default object does not wrap text, but it is an option. 

Correct Answer: D 

 

QUESTION 2

A developer has nested two non-measures in a Column visualization in a dashboard. How would the developer
manually order the columns to get the column order to show properly? 

A. Use automatic sorting. 

B. Uncheck sort automatically, and drag the columns to the correct order. 

C. Select Sort remaining items by Auto. 

D. Use custom sorting. 

Correct Answer: D 

 

QUESTION 3

In a Data Module a developer creates a joined view from two tables (a and b) and then joins this to another table (c).
What would be the execution logic in the database? 

A. All queries are collapsed and a standard join across all three tables (a, b, c) is performed. 

B. The columns used in table (c) are are joined on the key to table (b) first and then the results are post-joined to table
(a). 

C. It makes no difference to the execution as a joined view is only used to group data items in a logical manner to help
the business user find their data. 

D. The joined view (a and b) is evaluated and all results are then post-joined to the other table (c). 

Correct Answer: D 

 

QUESTION 4

When a developer needs to share dashboard content with another application, the Share option provides which

C1000-065 VCE Dumps | C1000-065 Study Guide | C1000-065 Exam Questions                                2 / 3

https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html


https://www.geekcert.com/c1000-065.html
2024 Latest geekcert C1000-065 PDF and VCE dumps Download

benefit? 

A. the ability to export the dashboard to Excel 

B. the ability to generate the HTML to create an iFrame and reference the dashboard 

C. the ability to export the dashboard directly to SharePoint. 

D. the ability to send a notification to a phone 

Correct Answer: D 

 

QUESTION 5

After adding a prompt to a relational sourced report it is decided that the consumers require multi- select functionality
instead of a single-select. What two modifications must be made to the report? 

A. Change the Filter property Multi-select to Yes 

B. Change the Cascade source property of the Prompt to represent more than one value. 

C. Change the Prompt property Usage to Select-many. 

D. Change the Filter expression of the Query from "=" to use "in". 

E. Change the Prompt property Multi-select to Yes. 

Correct Answer: CD 

C1000-065 VCE Dumps C1000-065 Study Guide C1000-065 Exam Questions

Powered by TCPDF (www.tcpdf.org)

C1000-065 VCE Dumps | C1000-065 Study Guide | C1000-065 Exam Questions                                3 / 3

https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html
http://www.tcpdf.org
https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html
https://www.geekcert.com/c1000-065.html

